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General Instruction :

Questions from SI. No. 1 to 10 are multiple choice questions. Choose a correct option out
of the given options and write the same in your answer sheet.
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3T AT TETeh | 31T <ht foifer qeh feharm 7o sl seeh SRIei T
(a) SHIRTA ST <l HooI TUT STIHTITG i shi AR

(b) ST s =l AT 3R TIHTIOTA Hrl <l AT

(c) ST hrl <l g

In contract costing the work done till date will be equal to :

(a) Value of work certified and cost of work uncertified.

(b) Cost of work certified and cost of work uncertified.
(c) Value of work certified.

ffeiaa o 9 98 #e shaa @IFTd @rdl | & |fiiford sl ST @ -
(a) AR T A

(b) HUCE (BTe)

(c) T9 % hadl W 1 AR (Freet) ferrn

Out of the following, this item is included in cost accounts only :
(a) Interest on overdraft

(b) Fines

(c) Notional rent on own factory building

gfe 3% *1 *F q-fagE W & T ], FA a9 T 60,000 7, JHIO HE H G
% 2,50,000 & 3R 9T Tehg MM JHINIG B &% Hoot T 100% 7, A1 AH-FTH @A 6l
FEATANG fohT S ITEAT STTATIeh <19 I8 BT

(a) % 60,000

(b) 40,000

© A

If the contract is 2/3™ complete, the total profit is ¥ 60,000, the value of work certified
1s T 2,50,000 and the cash received is 100% of the value of work certified, the
proportionate profit to be transferred to P & L a/c would be :

(a) % 60,000
(b) 40,000
(c) Nil
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NG @l § SATITEOeh TR 6 &9 "fffferd i T8 ISt Sl s 3hi W1 @1Td 3R
foritar @l o Tl 1 e SHd T 1
(a) CINTd SETeh 19 H Sg & S |

(b) fercftar = # wirg & e |

(c) T SRETeh oy T © 5T &t ST |

At the time of reconciling cost and financial accounts profits, interest on capital,
included in cost accounts as a notional figure will be :

(a) Added to costing profit.
(b) Added to financial profit.
(c) Deducted from costing profit.

sk @Al § SFETEROT S=id q9 BId] & & SR e gl 1
(a)  STHETT T BT | 377 Bt 2 |

(b)  STIHTA TTH=T BT o SRR B 2 |

(c)  STHTIT = BT | H Bl 2 |

In process accounts abnormal gain arises when actual loss is :
(a) More than the estimated normal loss.

(b) Equal to the estimated normal loss.

(c) Less than the estimated normal loss.

BIedl TR ST oh [T AT T@Toh % Halrd foter 2 1
(a) fshaT AT RETeh

(b) 3BT AT AW

(c) UG AT SRETeh

The best method of costing in respect of hotels and hospitals is

(a) Process costing

(b) Job costing
(¢) Operating costing

frafafiad o @ g s nTa orareR i faft s s arer e o fofe 3uge 8 1
(a) UG AT SRETeh
(b) sk AT Gt

(c) 31 ATTA TG

This one out of the following is a suitable method of costing for paper making industry :
(a) Operating costing

(b) Process costing

(c) Contract costing
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8.  3UHM ATTA fafer 37 %Hi o foTq Iuga & S a&g 3t 1 Fwior et & 1
(a) W& G 1GU T forartor s STTER
(b) TR 3MIR ™
(c) 3T 3TN & feTw

Job costing is suitable for firms manufacturing goods :
(a) as per customer specifications
(b) on a continuous basis

(c) for common use

9.  wifsren @mTa fafy e Uy el & S 1
(a) TR &9 T ushauH aEq3A 1 31fereh AT A Iedre fohan AT R |
(b) T UTEehT oh TAT W ST Fsarfea fopam ST 2 |
(c) T IS WTgeh G AT, 7T T o STER S-=I S0 ¢ |

Process costing is appropriate when :
(a)  Similar products are mass produced on a continuous basis.
(b) The work is performed at the customers’ site.

(c) Each product has to be made as per customer’s specification.

10. afETe™ AFTa e seehl 0T i &g daR foham STrar & 1
(a) Ueh 3oh hl AN
(b)  hIE T YEH A h AN
(c) Terelt =g 6w 3ohrE e
Operating cost statement is prepared to calculate :
(a) The cost of a contract

(b) The cost of providing a service

(¢) The cost of a product per unit

11. 9N=ETA AN A@iehd o el d TRl yqre (e amid) w1 gitarfyd i | 2

Define ‘standing charges’ with reference to operating costing.

12. < R sarsy fop ferelt wishan & gmm=r g1 =i Bt 2 | 2

Give two reasons why normal loss arises in a process.
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13.

14.

15.

16.

17.

18.

19.

20.

21.
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(i) SNTd i@l § 3ufemat o J1fa-3MeH q (ii) T i@l <6t e forfie @i # = <6
Tertft Tie =1 31feres g % oIGT S8R 1 G&Y T 13T |

State briefly the accounting treatment of (i) over-absorption of overheads in cost
accounts and (ii) over statement of an item of expenditure in financial accounts as
compared to cost accounts.

Hg-3IcTC a7 M IS o S A=< HIT |

Distinguish between a joint product and a by-product.

IR ARTd i@ o1 B 7 fohe 3T & ot =18 o faftr sugem 2 2

What is Operating Costing ? For which industries is this method of costing suitable ?

NG TF forcfi i 1 fe ohtd v TR Wi o HH-ToId (TS IuH) qe
3ifem Tieh T HH-ToIA T THTASH fohd THR HAT 7

How are under valuation of opening stock and under valuation of closing stock treated

while reconciling costing and financial profits ?

AN SIS (hIE &Y ) Sehl FIT BIAT & ?

What is a cost plus contract ?

Torei U8 = I o6 9 ferftaw STEt wfskan Sd i@ien vt ST fepan ST 2 |

Name any four industries where process costing is used.

STHTT §<d 91 2 ? TishaT ANTd @rdl § SHehT oGl fohd T foman STat @ 2

What is abnormal gain ? How is it treated in process cost accounts ?

IR AT AGTeh bl TR HHTIST 1 Iooild HIfTT |

Mention four limitations of Job costing.

T AT AETehd § 3719 1 U & ¢ $8eh STaeh AT bl §aTsy |

What do you understand by Service costing ? Give its essential features.
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23.

24.

25.

26.
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Soh1 AN TGk qUT TR ATTA AETehd § 3T shiToY | 3

Distinguish between Job costing and Contract costing.

319Ut Jehi T AT ShI T HiA & IT: Tobet Tt sh1 S1gemon fepam sman 8 2 3

What rules are generally followed for calculating profit on incomplete contracts ?

Ife ANTd Ud T AT} =1 fiet™ shid T8I AT @i oaiet o1 <hl 3TTER 91 STl 8, o
I fferfaa o fore o= i 3

(a) haS AT @Il § Aferferd foham T T o We <1 fortr |
(b) et faxfia @rat o wftfera wefiv & fasha w et |
(c) ATTA @l H TRIFHeh Tih 1 371 ToaTeh |

How would you treat the following if profit as per cost accounts is taken as the base
while reconciling the cost and financial profits.

(a) Rent of own building included only in cost accounts.
(b) Loss on sale of machine included only in financial accounts.

(c) Opening stock over-valued in cost accounts.

AT foretor o= (i 3fe) w1 8 7 98 ford 3eva i gfd wear & ? 3

What is cost sheet ? What purpose does it serve ?

1 e, 2017 1 I T T 2 8,00,000 % Th 3o o a1 § fefcifgd Tl T2 5

4
39T i TS ATt 1,40,000
Y TR I U YN 2,00,000
W = foru fou 7u w5= 6t v 4,00,000
31 fegmsr, 2017 w1 H w2 W/ A 10,000
31 femwar, 2017 %1 YwIfeTq S 1 e 4,00,000
3] feamar, 2017 T 9T Tehg AR 3,20,000
31 femmar, 2017 =1 3rvmIfoTd 1 <6t T 60,000
I3 W g AT T 10%

T o AT -1 @Td | STHT fehT, ST aTet AT 3l gITd 5T 2017 3T 3oh1 QAT SHT5Y |
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The following information is given in respect of a contract for ¥ 8,00,000 which was
commenced on 1% January, 2017.

g
Materials used 1,40,000
Labour charges & overheads 2,00,000
Plant issued at cost 4,00,000
Materials at site on 31% Dec., 2017 10,000
Value of work certified on 31% Dec., 2017 4,00,000
Cash received upto 31% Dec., 2017 3,20,000
Cost of work uncertified on 31% Dec., 2017 60,000
Depreciation on plant 10% of cost

Prepare the contract account for 2017 showing the profit to be credited to the year’s
Profit and Loss a/c.

27. ANTd Ud forcfia i § 31 % hIUT bl Iooid ity | 5
FroET
Frafaftaa foaworn & ue arga 6t afa & feraiet s < momn Hifs -
s | qTEH FoAdT & 24,000 fepetiefiet
T shl AN % 4,80,000
FTE T AT Shaq 10 ¢
ot Y ufe fepetfiex smma 3
T U8 TEETE Ui fheier 32

T3 o1 I Ufd HT8 Z 6,000

=TT T o e o % 6,000

3T = W a9 % 18,000

State the reasons for difference in Costing and Financial profits.
OR

Calculate the cost per running km for a vehicle from the following particulars :

Km. run annually 24,000 km

Cost of the vehicle 3 4,880,000

Estimated life of vehicle 10 years

Cost of diesel per km %3

Repairs & Maintenance per km 32

Driver’s salary per month % 6,000

Insurance & taxes per year % 6,000

Other expenses per year < 18,000
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28.  IcTed WAl (SR Thi3<) FT 8l & ? I8 ANa-3ie § frg TR = alar 8 2 5
YT

Torerm ffiiee SUs™ @M S@iehd 3T & | 99 2017 § Hrafd AN o 3Afhe
frefafea g

£
e gt 1,50,000
EIEERE 2,50,000
HREMT TN 60,000
TSI 3TN 40,000
fershar wa forawor Sufera 10,000

9 o foTu U Ui STa Sfie, 39 Yol ST, SHIREHT SANTd, IcdTed shi @i, fershar 6t
AN TUT HeT AN T 10% AT o €9 H Ageht Torshd Jo gurtd g T HifT |

What is production account ? How does it differ from a cost sheet ?

OR
Vikas Ltd. uses job costing. The following are the cost figures relating to the year
2017.
4

Direct Materials 1,50,000

Direct Wages 2,50,000

Factory Overheads 60,000

Administration Overheads 40,000

Selling & Distribution Overheads 10,000

Prepare a job cost sheet for the year showing there in the prime cost, works cost, cost
of production, cost of sales and selling price, adding 10% of the total cost as profit.
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